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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2750 -

2500 -

2250 -

2000 -

1750

1500

Warning: ['FVIEC'] is missing

1250

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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P6AW W1, Day=54 (2025-05-29)
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P6AW W1, Day=53 (2025-05-28)
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08:10 314 160.0 = {RRiB008:10 Bz (FRFAEEE)
09:10 314 160.0 & =| 1Ri%@09:10 Bzh (kAEREE)
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21t 5024.0 (167%) 2560. 0 3203 KEC: 2080.0, PH: 6.5

EREFIRRA (0.94) , FEE

MEREHERE STHAEARS (296.0 : 157.0), AIREKREERE
BRIASERRERE157. 0 ml.

#H[EHECE (2087.0 vs 3858.0) 45

LRGERIEC (2440.0) 51RAIEY (2080.0) REK K, BHHRE.
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BRIASERRIERE160. 0 ml.
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08:10 320 160.0 E 1BRi&e08:10 Bzl (RAEREE)
08:50 320 160. 0 E  1BRi%e08:50 BE1 (RAERE)
09:40 320 160.0 F[ BRi%e09:40 BE1 (GRAERE)
10:25 320 160.0 5| 1Ri&e10:25 B (REERS)
11:05 320 160.0 5| 1Rike11:05 B (REERES)
11:40 320 160.0 S {Ri%e11:40 Bz (GRAERSE)
12:15 320 160.0 =l RiBe12:15 Bz (REAKEEE)
12:50 320 160.0 | 1Rike12:50 B (KRGS
13:25 320 160.0 =l {Rige13:25 B3 (REAERSE)
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14:35 320 160. 0 E BRige14:35 Bz (GRAERESE)
15:10 320 160.0 S| Rige15:10 Bah (GRAERES)
15:45 320 160.0 = RRiBe15:45 B (RFEAKEESE)
23t 4160.0 (13%) 2080.0 3ZHKEC: 2080.0, PH: 6.5

EREFIRRA (0.94) , FEE

MEREHER 2 STHAE RS (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2153.0 vs 3857.0) 15
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